Independent invariants to the independent total affine
transformation of the vector fields up the order 9

The weight is the number of edges of the first type, it equals the sum of the first indices
in one term and also the sum of the second indicies. The structure are the numbers of
the moments of the individual orders in one term, e.g. structure: 4,2 means that each
term contains fourth moments of the second order and two moments of the third order.

The generating graph is given by the list of edges, e.g. the column means an edge

1
2
connecting the nodes 1 and 2. The edges of the first and second type are separated by a
space.
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